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QUESTION 1

A company needs to replace an existing legacy wireless and wired solution with one that supports features like 802 11
ax for APs and logical switching for switches. The company is located on a single floor with two wiring closets. Assume
that there will be 10 APs connected via POE+ to each wiring closet, along with 36 wired user connections All switches
on a floor should be configured in a single stack. The distance between wiring closets is 100 feet (31 meters). Which
switching solution will minimally provide 10 Gbps uplinks at the most cost-effective price, while still meeting the
company\\'s requirements?

A. 2930M switches

B. 2930F switches

C. 5406R switches

D. 3810M switches

Correct Answer: A

QUESTION 2

A customer is designing a new wired network. The customer requires 50 Gbps uplinks, VSF logical switching, and smart
rate port support.

Which of the following switches would meet these requirements?
A. 3810M series

B. 6300 series

C. 5400R series

D. 8300 series

Correct Answer: B

QUESTION 3

A customer has a need to track traffic patterns and anomalies on a pair of ArubaOS-CX 8400 series switches. Which
technology will the customer need to deploy for these switches?

A. Mobility First
B. NetEdit
C. Network Analysis Engine

D. 2 CiearPass
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Correct Answer: B

QUESTION 4

A company is installing Internet of Things (loT) devices to support a smart and energy-efficient environment for a
building, including loT devices for heating and air conditioning, lights, and window shades. IoT devices of these types
are typically classified as which category of devices?

A. Nomadic devices

B. Somewhat mobile devices (SMD)

C. Highly mobile devices (HMD)

D. Stationary devices

Correct Answer: A

QUESTION 5

A network architect is given the task to design a new network solution for NewStellar Company, Inc. NewSteiiar has a
main corporate campus in a business park with two adjacent buildings. The network architect has given one floor to
analyze, Building 1 Floor 2, shown in the attached exhibit.
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Each building has three floors and each floor is 322 x 175 feet (98 x 53 meters) for 56,350 square feet (5,235 square
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meters) total, which results in a total of 338,100 feet (31,410 square meters) for the entire building space. Each floor has
a

central main corridor with washrooms, stairs, elevators and supply and network cabinets. There are cubicles around the
perimeter of the floor. The central part main corridor\\'s dimensions contain 9,350 square feet {870 square meters).

Because of security concerns, video cameras will be installed throughout the facility. There are 16 of these per floor, 8
per wiring closet. The cameras are non-WiFi capable and require POE 802.3af- capable switch ports from which to
draw

power.

A wireless capacity design is required. Assuming that wireless coverage is required across the Building 1, Floor 2,
including the central area, and that half the required APs will connect to each wiring closet, approximately how many
POE+

ports will be required per wiring closet for all devices that have POE or POE+ needs?

A. 30

B. 22

C.42

D.8

Correct Answer: A
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